1. Find:
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2.
Rewrite using only positive exponents:
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3.
Find:
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4.
Simplify:
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5.
Darlene and Harriet are going to paint their apartment. If Darlene could paint the 
apartment by herself in three days and Harriet could paint it in five days by 
herself, how long would it take Darlene and Harriet to paint the apartment 
working together?

6.
Solve for x:
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7.
The ratio of jellybeans to gummy bears in a bag of candy is seven to two. If there 
are 459 pieces of candy in the bag, how many jellybeans are there?

8.
Use the Pythagorean Theorem to find the distance between the points (-3,4) and 
(2,1)

9.
Find the slope of the line through the points (-3,4) and (2,-1).

10.
Find the equation of the line that passes through the point (2,-3) and has a slope 
of   -2/3 

11. 
Find the slope and the y-intercept of the line 3x - 2y = 5

12.
Graph the inequality x – 2y > 3
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13.
Solve the following equation for system for x.


3x – 5y = 8


2x + 3y = 4

14.
Cara is making punch for a party. She wants to combine a 20% real fruit juice 
drink to get 16 cups of a mixture that is 80% real fruit juice. How much of each 
type of drink should she use?

15.
Rationalize the denominator:
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16.
Solve for x:
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17.
Solve by factoring:
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18.
Solve by using the square root property:
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19.
Solve by completing the square:
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20.
Solve using the quadratic equation:
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